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1. When feedback control shows that planning goals and actual performance were dramatically different, the
most likely conclusion is that
A) planning was on-target B) plannmg was not on-target C) goals do not need to be changed
D) performance measurements were unreliable

2. A household that cuts back on supermarket spending after going over-budget on its food budget is using the
budget as a(n) :
A) leading tool B)controlling tool C)planning tool D)organizing tool

3. Michelle is the general manager of a power plant. This morning she will meet with city officials to discuss
environmental issues. After the meeting, she will confer with the plant's section managers to address the
concerns of the city representatives. This afternoon Michelle will meet with a team leader to go over a
complaint filed by an employee. After the complaint meeting, Michelle plans to spend time in the library and
on the Internet researching new technologies that can be used to improve the performance of her plant.
When Michelle spends time searching for new technologies for her plant, she is performing which
management role?

A) entrepreneur  B) leader C) disturbance handler D) spokesperson

.&

. As shown in Question 3, which type of management skill does Michelle use most during the day‘7
A) interpersonal B) conceptual C) informational D) political :

Ul

. When a firm advertises that it only uses recycled paper products, it is

A) being socially responsive B) meeting its social obligation C) paying attention to the bottom line
D) being cynical
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. A factory that has adhered to all pollution control standards has
A) been economically responsible B) been socially responsive C) met its social obligation D) been ethical

7. What is a heuristic?

A) a purely intuitive method of decision making 2 I
B) a shortcut or rule of thumb that is used for decision making Kﬁ%{%ﬁ@tﬁlﬂﬁ]
C) a totally unreliable method of decision making Exam Printed on 2 sides.

D) a complicated and systematic method of decision making

8. A banker opts for short-term gain despite indications that his decision might not pay off in the long run.
Which error or bias is the banker guilty of?

A) immediate gratification B) selective perception bias C) overconfidence D) representation

9. Groups decisions are usually individual decisions.
A) more efficient but less effective  B) less efficient than C) equal in efficiency to D) more efficient than

10. The interactionist view of conflict states that conflict
A) is natural and inevitable B) is necessary for successful group performance
C) is easily prevented D) must be avoided

11. Your boss has total control over hiring, firing, and promotions in your department. He has

A) low task structure B) high task structure C) high position power D) low position power

12. All of the following appear to be universal elements of transformational leadership EXCEPT
A) dynamism B) aggressiveness C) trustworthiness D) vision
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13. In the chain of command, each person above you -
A) has special privileges B) has no right to give you orders C) receives higher pay D) has line authority

14. A soap company that features a bath soap department, a laundry detergent department, and a dish soap
department is using which of the following?

A) customer departmentalization B) process departmentalization C) functional departmentalization
D) product departmentalization

15. The chain of command answers this question.
A) How do | know when the task is complete? B) Who reports to whom? C) What are the rules?
D) Where do | go for help?

16. The first step in any employment planning process involves making a
A) human resource inventory B) job description C) job specification D) product evaluation

17. A person who believes that "the ends justify the means" would be likely to have a high level of which
personality trait? A) social skills B) Machiavellianism C) empathy D) self-awareness

18. is the process of organizing and interpreting sensory impressions to give meaning to the
environment. A) Learning B) Perception C) Attribution D) Selection

19. In attribution theory, if a person is conscientious in five separate tasks, but in the sixth task fails to be
conscientious, this task is said to have

A) low consensus  B) high distinctiveness C) high consensus D) low distinctiveness

20. A theory that suggests that employees compare their inputs and outputs from a job to the ratio of relevant
others is known as

A) reinforcement theory B) action motivation C) goal setting D) equity theory
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